
���������
	�������
������������������ �������! #"$�&%(')���+*-, �)��
.�/���
�0	��1�32��
45	7618989:

;=<?>A@CBED1FHGJI1KL>AM�I9FON+>AP�QSRTI�K/>AMVUWD�X1@CKZY[D]\�@CB_^�B&R$M`@CK?a�@b<?F0Q]c
 Sd�e/fhgji�kml
npo 45��
������q�9r?��st�
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ẇ = auw − w, q̇ = c(1 − u)w,�����
45�

a
��vL�

c
��45� o �����O���O���w
��9vL���V��vW�.���3�O���

a > 1 � 2§����{Cy�vL
`���0�9v u
��������r?��
.�����5�
vµ�5���1�#���[	������0	��0�
�E�����

v�y�	_r?�
4��9{²¢Wy��
�
vL�������������
vL���9{��������5�]�1���9v �S� ���]�����/����������� o ���0	���� o �9�0��
`s)������� o 45���tyL
����9v��Os)�§�94 � �
4���y o ����5�9	��q	��9	E�
vW� u ��vL���9v��Osx¢Wy��
�
vL�������
45�]��{����
4 �w� ���]�¶���/����������� o ���0	����²���3�O�.
.���0v�z)���0	��q���
log(a/(a − 1))

r?�
{C�945�
�������
vL�w�9{��������5�]�1�5�9v �
 Sd�e/fhgji�k¸·
¹�º¡»Z¼ �0vL� u yL�5�0v�z��9��45�������0�9v/���½����
.��v���¢Wy���� u �����S
�y�4������3����
.�wz9�O�����©�������5���94����������t�����V��vL
��Sr?�����§�
�
v������ o �9�0vW�.� (a, b)��vL�

(c, d) �
¹ f » n �0�0z9�W�_4.�
s o �1�5�5��������45�9y�z9�¾�)	����t�0y�	¿
��9vL�5�������0v�z��9{T������y�v��0{C�945	¿�0v�}�v��O���w������rL�

−a ≤ x ≤ 0
�­���04 u ���O���� o �
�����9{(��4.�
���
�

c1 � ��vL� 0 ≤ x ≤ b
�C�3�����
4 u ���O����� o �
�����9{(��4.�
���
� c2 �Vu �3���
45� −∞ < y < ∞ � ¼ �0vL������� o ������3�O���w�����94��������§��4.�
���
�?���0	E��{C45�9	

(−a, 0)
���

(b, 1) � ¦��
vL
����t���tyL
�� � v��
�0�­³´�§���
�¯�9{½45�
{C4.�1
`���0�9vw{C�94©�0�0z9�W� o �1�����0v�z{C45�9	p���04T���q�T�����
4 u v/��	��
�Os
sinα

c1

=
sinβ

c2

,

�3���
45�
α, β

��45�������S�0vL
����t�
vW� u ��4.��vL�5	��O�5�����Z��v�z9�0���T�9{��������0�0z9�W� o �����w���O����������v��945	����½���_����� o ����v�� x = 0 �
À



���������
	�������
������������������ �������! #"$�&%(')���+*-, �)��
.�/���
�0	��1�32��
45	7618989:

 Sd�e/fhgji�k��
¼ �94

D
�~���0	 o �Os¬
��9v�v���
`����� ��vL�¬r?�9y�vL�t���!�t�9	����0v¬�0v

R
2 u }�vL� ����� {Cy�vL
`���0�9v u(x, y)

�3�O����	��]��v¬�
�
45�ª�j� � � �∫
D

u(x, y)dxdy = 0 �Vu �3����
.�)	��0v��0	����5���
∫

D

1

2
(∇u)2 + λeudxdy,

{C�94�
��9vL���V��vW�
λ ≥ 0 � ¤¯�/�����/� o�o �
vL�3�0{=�§�#�t45� o �����#
��9vL�t�O���0�9v)���/��� u

�/�1�3	��]��vw�
�
45� °

6


